Answers to Exercise 1

i. f(x)=3x*>-4
f (x)=6x
ii.  f(x)=7x"—2x> +5x+1
f (x)=21x>-4x +5
3

iii.  f (x):gx6+lx‘ 1
3 6 2

. 1
f'(x)=4x>—=x"
(x) >

iv. fX)=ax’+b

f (x)=3ax"

5

V. y= —

X
y=5x"-oy=-"Sx" o5y =23

Vi. = —

y o
y=7x"t—>y =-28x"— y':—i—f

vii.  f(x)=4ax*-3bx *+a’
f '(x)=8ax +6bx

viii.  f (X)=(4x -2)x°
f(X)=4x>+3x7(4x —2)=4x> +12x° —6x* =16Xx> —6x°
Or
f(x)=4x*-2x"
f'(x)=16x>-6x"
. y=(x+3.x -4
X X
y=(x+ax )-(x —ax )

y =(l-ax ) (x —ax )+ (x +ax‘l)~(1+ax‘2)—>(1—;—2)-(x —%)+(x +%)~(1+;—2)

g o @X D (x+2)
X
y = (2x? =X +4x —2)
X

1

— Yy =2X —1+4—X£—> y =2X +3—X£—>y =2X +3-2X"
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y =2+2x7 oy =2+—
X
X1 y——X_a
' bx *
. bx?—(3bx %) (x —a) ,_bx3—3bx3+a3bx2_) _ bx? _3bx3+3abx2
(bX3)2 b2X6 b2X6 b2X6 b2X6
, 1 3 3a \ 1 3a
= - + =—1-3+—
y bx® bx’ bx“_)y bx3( x)

xii. Y =XX+1)-(x+2)
Y =(X2+X)- (X +2) > (X +X>+2X>+2X)
Y =3X24+2X +4X +2 53X +6X +2
xiii. y= (2x + 6)
y =3(2X +6)%(2) > 6(2X +6)* —> 6(4X 2 +24xX +36) —> 24x > +144x +216
Xiv. y = (X+5)6
y =6(x +5)°y =6(x +5)’
XV. y = (ZX + 6)(5X — 7)
y' =2(5X =7)+5(2X +6) = 10X —14+10x +30 — 20X +16
Xvi. y = (2x + 6)2.(5x - 7)3
Y =2(2X +6)-2-(5X —=7)* +3(5X —=7)>-5-(2X +6)> = (8X +24)-(5x —7)> +15(5x —7)*(2X +6)’

xvii. Yy =—/25-X"
xviil.  f(X)=83x* —2x* +1

dfd(x) = 4(12X° —4x)(3X* — 2% +1)7"2
X

X+l
3%} —2x
df (x) _ (2X)(3%° —2%x)— (x> +1)(9x° - 2)
dx (3x* —2x)>
xx.  f(X)=4xe™
df (x)

e (46%0) 1 (4x)(2x + 4)e
X

Xix. f(x)




